scanner = Scanner ( .im} ;
mot = H
[1 lettresTrouveses = [mot.length()]:;
( i =0; i < lettresTrouvees.length; i++} {
lettresTrouvees[1] = 5
}
motTrouve = ;

(!motTrouve) {
.out.println/( + .valueOf {lettresTrouvees)) ;
.out.println( ) ;
lettre = scanner.next ()} .charat (0},

lettreTrouves = ;

{ i =0; i < mot.length(); i++) {
(mot.charAt (i) =— lettre)} {
lettresTrouvees[i] = lettre;
lettreTrouves = ;

(!lettreTrouves) {
.out.println/( + lettre + Y

motTrouve H

( lettresTrouvees) {

(c == ) A

motTrouve = H

[y}
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salisir une lettre
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